efficiency efficiency efficiency

efficiency

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

0.9
0.8
0.7
0.6
0.5

:...""'—'—"“ — ‘-.—'- — --i-"'-'-'"" = ‘_._‘ ='=’='=-"‘ & S-S ‘-i-'—'—“==-i-‘-i-=*"‘-m‘ — _'6'"—.—-—"—_ 9O _._. *
wheel -2 chamber 1 sector 2 sl 1 layer 4 I
o 10 15 20 ZE)I — 30 — 35 — 40 — 45 I”

)
)
)
(1]
(1]
)
)
)
)
)
)
)
)
)
)
)
)
)
)

R

wheel -2 chamber 1 sector 2 sl 1 layer 3 I
o 10 15 20 29 30 35 40 45 cell
- ‘3"—.-‘“.5._._." - =.'.'G'. .W“%_._—G—_._—v-—m“ — ‘==-'--'— “ = o -i-. .-6—_._ B Al &
= * o ¢+
wheel -2 chamber 1 sector 2 sl 1 layer 2 I
- 5 10 1> 20 25 30 35 40 45

T . o g Py “ﬁ"‘ﬁ%i“-i‘%i-&m-.—i’:@i P. 2 _._6-_._...“ o000 e +
wheel -2 chamber 1 sector 2 sl 1 layer 1 I
5 TO TS >0 » 30 35 40 45



